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Stat 302 Winter 07/08 — Solutions to Suqggested Problems: Chapter 2

(a) 2°=32

(b)

W={(1.1,1,1,1).(1.1.1,1.0). (1.1, 1,0, 1). (1. 1,0, 1, 1).(1. 1. 1,0,0). (1. 1. 0. 1, 0)
(1.1.0.0.1). (1.1.0.0.0). (1,0, 1,1, 1).(0. 1. 1. 1. 1). (1. 0. 1. 1. 0). (0. 1. 1. 1. 0). (0. 0. 1. 1. 1)
(0.0.1.1.0).(1.0.1.0. 1)}

(c) 8
(d) AW={(1.1.1.0.0). (1, 1.0, 0, 0)}

(@) S=1{(L.g). (0. 2. 1./. 0./, (L 5. 0. )}
(b) A= {(L5). (0. 5)}

© B={(0.2).(0.). (0.5)}

(@ {(1.9).(0.9). (L. g). (1.}

Let R and N denote the events, respectively. that the student wears a ring and wears a

necklace.
() PROUN)=1-.6=4

(b) 4=P(Rw N)=P(R)+ P(N)—- P(RN)=.2+.3 - P(RN)
Thus. P(RN) = .1

P(M) + P(W) + P(G) — P(OMW) — P(MG) — P(WG) + P(MWG) = 312 + 470 + .
042 — 147 + .025 = 1.057
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52.51
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If sampling is with replacement

. lr. 5\ l:
P/{different} = 1 1 H

546 +8

P{same} = 197

P{different} = P(RBG) + P{BRG) + P(RGB) + ... + P(GBR)
_6-5-6-8
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7. (a) [;’]/FSO | =1/12~ 0833

/".-' _/3\I "If'/]_O\- | o
5.4.
59, 243 _12
43, 2=be-2 2.
n! "
2n(n—-2)!

ifin a circle. n = 2

n! n-—1

Theoretical Ex.

6. (a) EFG°
(b) EFG
() EOFUG
(d) EF UEG U FG
(¢e) EFG
(f) E°F°G°
(2) EF°G° L EF°G° U E’FG° U E'F°G
(h) (EFGY
(i) EFG°UEFGUEFG

(OB

1. 1= P(Ew F)=P(E)+ P(F)— P(EF)

13. E=EF UEF°



